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“All groups and organizations should function as teams in which
everyone makes decisions and shares responsibilities and duties. Giving
one person central authority and responsibility for a project or task is
not an effective way to get work done. ”

To what extent do you agree or disagree with the opinion expressed
above? Support your views with reasons and/or specific examples drawn

from your own work or school experiences, your observations, or your
reading.
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The following appeared as part of an annual report sent to

stockholders by Olympic Foods, a processor of frozen foods.

“Over time, the costs of processing go down because as
organizations learn how to do things better, they become more efficient.
In color film processing, for example, the cost of a 3-by-5-inch print
fell from 50 cents for five-day service in 1970 to 20 cents for one-day
service in 1984. The same principle applies to the processing of food.
And since Olympic Foods will soon celebrate its twenty-fifth birthday,
we can expect that our long experience will enable us to minimize costs
and thus maximize profits. ”

Discuss how well reasoned you find this argument. In your
discussion be sure to analyze the line of reasoning and the use of
evidence in the argument. For example, you may need to consider what
questionable assumptions underlie the thinking and what alternative
explanations or counterexamples might weaken the conclusion. You can
also discuss what sort of evidence would strengthen or refute the
argument, what changes in the argument would make it more logically
sound, and what, if anything, would help you better evaluate its
conclusion.
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“People often complain that products are not made to last. They
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feel that making products that wear out fairly quickly wastes both
natural and human resources. What they fail to see, however, is that
such manufacturing practices keep costs down for the consumer and
stimulate demand. ”

Which do you find more compelling, the complaint about products
that do not last or the response to it? Explain your position using
relevant reasons and/or examples from your own experience,

observations, or reading.

(6 24 X)

Many people feel that products are not made to last, and
correspondingly, many natural and human resources are wasted. On
the other hand, it can be noted that such manufacturing practices keep
costs down and hence stimulate demand. In this discussion, I shall
present arguments favoring the former statement and refuting the latter
statement.

Products that are not made to last waste a great deal of natural and
human resources. The exact amount of wasted natural resources
depends on the specific product. For example in the automobile
industry, the Yugo is the classic example of an underpriced vehicle that
was not made to last. Considering that the average Yugo had ( not
“has” since they are no longer produced!) a life expectancy of two
years and 25, 000 miles, it was a terrible waste.

Automobile industry standards today create vehicles that are
warranted for about five years and 50, 000 miles. By producing cheap
Yugos that last half as long as most cars are warranted, the Yugo
producer is wasting valuable natural resources. These same resources
could be used by Ford or Toyota to produce an Escort or Tercel that will
last twice as long, thereby reducing the usage of natural resources by a

factor of two.

Human resources in this example are also wasteful. On the
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production side, manufacturers of a poor quality automobile, like the
Yugo, get no personal or professional satisfaction from the fact that
their product is the worst automobile in the United States. This
knowledge adversely affects the productivity of the Yugo workers.

Conversely, the workers at the Saturn plants constantly receive
positive feedback on their successful products. Saturn prides itself with
its reputation for quality and innovation-as is seen in its recent massive
recall to fix a defect. This recall was handled so well that Saturn’s
image was actually bolstered. Had a recall occurred at a Yugo plant,
the bad situation would have been even worse.

Another factor in the human resources area is the reaction by the
consumer. A great deal of human resources have been -wasted by Yugo
owners waiting for the dreaded tow truck to show up to haul away the
Yugo carcass. Any vehicle owner who is uncertain of his/her vehicle’s
performance at 7 AM as he/she is about to drive to work, senses a
great deal of despair. This is a great waste of human resources for the
consumer.

While the consumer senses the waste of natural and human
resources in a poor quality product, so does the manufacturer. People
who argue that low quality manufacturing processes keep costs low for
the consumer and hence stimulate demand should look at the Yugo
example. In the mid-1980’s the Yugo was by far the cheapest car in the
United States at $3995. By 1991, the Yugo was no longer sold here

and was synonymous with the word “lemon”.
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The following appeared in the editorial section of a monthly
business news magazine.

“Most companies would agree that as the risk of physical injury
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occurring on the job increases, the wages paid to employees should also
increase. Hence it makes financial sense for employers to make the
workplace safer; they could thus reduce their payroll expenses and save
money. ”

Discuss how well reasoned you find this argument. In your
discussion be sure to analyze the line of reasoning and the use of
evidence in the argument. For example, you may need to consider what
questionable assumptions underlie the thinking and what alternative
explanations or counterexamples might weaken the conclusion. You can
also discuss what sort of evidence would strengthen or refute the
argument, what changes in the argument would make it more logically
sound, and what, if anything, would help you better evaluate its
conclusion.

(6 24 X)

This argument states that it makes financial sense for employers to
make the workplace safer because by making the workplace safer then
lower wages could be paid to employees. This conclusion is based on
the premise that as the list of physical injury increases, the wages paid
to employees should also increase. However, there are several
assumptions that may not necessarily apply to this argument. For
example, the costs associated with making the workplace safe must
outweigh the increased payroll expenses due to hazardous conditions.
Also, one must look at the plausibility of improving the work
environment. And finally, because most companies agree that as the
risk of injury increases so will wages doesn’t necessarily mean that all
the companies which have hazardous work environments agree.

The first issue to be addressed is whether increased labor costs
justify large capital expenditures to improve the work environment.
Clearly one could argue that if making the workplace safe would cost an

exorbitant amount of money in comparison to leaving the workplace as it
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